Guided Practice 5.3A 2: Choices and Consequences

Five events from the play are listed below: for each event there is an incident and an outcome. In
each event, the character(s) either acted or should have acted but didn’t. Match the incident that

initiated the event with the resulting outcome.

Incident

Outcome

A. Lord Capulet insists Juliet marry Paris.

Juliet takes her death to escape her
—— impending marriage.

Mercutio defends Romeo and fights
Tybalt.

Tybalt kills Mercutio.

Friar Laurence conducts a secret
C. wedding, even though he knows Capulet
and Montague won’t approve.

Romeo and Juliet must keep their love
— hidden.

Friar Laurence doesn’t get word to
Romeo about his plan for Juliet.

Romeo breaks the law and returns to
—— Verona to learn that Juliet has died.

Friar Laurence runs away from the tomb,
leaving Juliet alone.

Juliet is abandoned and kills herself.




